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Il

The Cartesian product A x A has 16 elements
among which are (0, 2) and (1, 3). Which of the

following statements is/are correct ?
1. It is possible to determine set A.

2. A x A contains the element (3, 2)

Select the correct answer using the code given

below :
(a) 1only
(b) 2only

cﬁd—)‘/N either 1 nor 2

Let A = {1, 2, 3, ..., 20}. Define a relation R
from A to A by R = {(x, y) : 4x — 3y = 1}, where
X, y € A. Which of the following statements

is/are correct ?

1. The domain of Ris {1,4, 7, 10, 13, 16}.e
5 The range of R is {i, 5; 9, 13, 17}

3.  The range of R is equal to codomain of R.

Select the correct answer using the code given

below :

jﬁk 1 only
@/' 2 only _

(¢ 1and?2

M?andﬂ

(3-D)

Consider the following statements :

1.  The relation f defined by

3
flx) = {x , 0<x<

4x, 2<x<

. is a function.

2!  The relation g defined by

xz, 0<x<4
g(x)*—*{
4 <

3x, <A

is a function.

Which of the statements given above is/are

correct ?

(a) 1only

2 only

Mand2

(d)  Neither 1 nor 2

Consider the following statements :
1. A=(AUB)UA-B)

2. AUB-A)=(AUB)
3. B=(AUB)-(A-B)

Which of the statements given above are
correct ?

(a) 1and 2 only
@/ 2 and 3 only -
() 1and3only

(d) 1,2and3
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5. A function satisﬁes fix—y) = % ,_ 8. What is 1 + sin? [cos‘l(_—\g_?ﬂ eqﬁal to ?
where f(y)#0. If f{1)=0-5, then what is
25
(2) + f(3) + f{4) + f(5) + (6) equal to ? 17
15 8
17 9
b _— . - L8
(b) 33 _ J;I (e) 7
29 - Lg‘ 47
© R @ =
-
) 64

6. What is 2 cot [% co

(
(

@3+\/§

(@ 38-45

1

If sec™!p — cosec q = 0, where p >

then what is the value of i}“z +q 27

1

(b)

(c)

b= DO

DFTK-S-MTH

g g] equal to 7

. ADDE‘

9. Iftan(mcos0)=cot(nsin®),0<0< g;then

what is the value of 8 sin? (9 + g} ?

(a) 16
(b)) 2
© 1
1
(d) 9

1 ¢ 1 n
10. If tana= =, sinf= —;0<a, p< =,
T T P<3
0,q>0; then what is the value of cos (o +2p)?
1
(a) —E
1
®» -—=
O J2
@5
1
> (d =
) 2

(5-D)
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Consider the following for the next two (02) |114. Iffis differentiable, then what is £/(05) equal

items that follow ; . to?
Let fix)=x2 -1 and gof(x) =x— \Jx +1. (a) i_
11. Which one of the following is a possible (b) §
expression. for g(x) ? -
@ T - 45T © -
@/ Vx+1 - Yx+1 +1 . a5 o
© Jx+1 + 'm ' Consider the following for the next two (02)

items that follow :

(d x+1- v+1+1

A function is defined by
12.  What is g(15) equal to ? x+1 9 3

@ 1 fx)=| 2 x+4 6 |
3 6 xX+9
L@/ A ij The function is decreasing on :
@ [-5]

o IR
Consider the following for the next two (02) (b) LO’ ?]
items that follow ; ¢

© |o,50
Let a function f be defined on R— {0} and "3
2fx) + f ( J X+ 3.
| | ) [ §§J
3
13. What is (0-5) equal to ? 1 - ' i
. ; 16. | The function attains local minimum value at :
(a) =
2 -_ 28
) (a) x 3
3 b) x=-1
© 1 @ x=0
@ 2 | : d x= 28
3
DFTK-S-MTH ' (7-D )'
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Consider the following for the next two (02)
items that follow :

Given that 4x2 + y2 = g,

17. What is the maximum value of y?

© ! ] .
L)
(e 4

oy |
L

d) 6

18. What is the maximum value of xy ?

(b)

(c)

Wb o bjco (e

)
s el

Consider the following for the next two (02)
items that follow :

A function is defined by f(x) = 7t + sin2

(d)

X.

19. What is the range of the function ?

(@ (0,1
@/[n, T+ 1]
(© [n- Ln+1]

d [n-1,7-7

20. What is the period of the function ?

(a) 2g

(d)  The function is non-periodic

DFTK-S-MTH

Consider the following for the next two (02)
items that follow :
2n P 4
Lot T= J‘ Mo x+cos'x
1+3% -
—2r
s
21. Whatis j (sinx + cos?x) dx equal to ?
0
3
(a) —8*
4
4
3n
(c) _é_
(d 3n
22. WhatisI equal to ?
(@ o
3n
b ety
(b) 1
© %
2
(d 3z
Consider the following for the next two (02)
items that follow :
ax(x+1)+b, v i |
Letf(x):{ X -1, 1<x<2
23. If the funetion f(x) is differentiable at x = 1;
then what is the value of (a + b )9
_1
3
b)) ~1
e o
d 1
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24. Whatis lim f(x) equal to ?
x—0

S

28. What is  the area between the curve e

(a) - Egl_ f(x) =x|x| and x-axis forxe [-1,1] 9
2
_ 2 3
&7 .
1
e o (b) 3 n
d 1 1
X
25. Ifflx) = |in|x|| where 0 < x < 1 then what ie u
£(0-5) equal to ? @ 1 a
3
b)) -1 29. What are the order and the degree
() o0 respectively of the differential equation

3% 2 dv )
W xz(a;g + [EXJ +sinx=0?
X
If f'(x) = cos (In x) and y = f(2x—3J’ then
x

(@) 3,4
what is dy equal to ?
dx () 1,4
2x -3
s| /.
(a) CO.‘:(?I( = JJ - © 29
3 2x -3
(b) -ysm(m( - D 3,2
@ —%cos(in[?—%—_—qn 30. What is the differential equation of all
x“ X
parabolas of the type y? = 4a (x-b)?
3 2x -3
(d - = cos ln( J 9
) * (a) ﬁ + [QX] =0
dx? dx
8n
27 Wht'f{‘ ldx equal to ? d% , afdy)?
. at is sin x equal to (b) — +x2(Y) _ 0
dx? ¥ (de
0 - a
; 2 2
@ 2 ° iy (.dl) -0
_ @ y? o *la

(b) 4
| %y (dy)?
() 8 rm _,_(,&_J =0
DFTK-S-MTH ‘ (11-D)
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3l. Ifzz =|z+ z|,wherez=x+1iy,i= /-1,

then the locus of z is a pair of ;
(a)
"M rectangular hyperbolas

n
—

32,

straight lines

(c)

mcles

If 1!+ 3! + 5! + 7! + ... + 199! is divided by 24,

what is the remainder ?

L

(a) 3

(b) 6

@ 7

d 9

What is the value of 12+5i + ,12-5:,

wherei= /-1 ? iUU

(a) 24

(b) 25

@5\/5

@ 52 -1)

1
If A=|2|,
3

34. then what is the value of

det(I + AA’), where I is the 3 x 3 identity

matrix ?

@15

(b) 6

N

(d)

-1

DFTK-S-MTH

35.

36.

317.

If A, B and C are square matrices of order 3
and det(BC) =2 det(A),
value of det(2A~1BC) ?

©

then what is the

N

(c)

+5

If the n'® term of a sequence is . , then

what is the sum of ifs first 140 terms ?

(a) 2840
(b) 2780
@ o
(d) 5700

Let A be a skew-symmetric matrix of order 3.
What is the value of
det(4A%) — det(3A%) + det(2A2) — det(A) + det(=I)

where I is the identity matrix of order 3 ?

®/-1

(b)) 0

(e) 1

d 2

(13-D)
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0 3 4
IfA=|-3 0 5|, then which one of the
-4 -5 0

38.

following statements is correct ?
A? is symmetric matrix with det(A?) = 0.
A? is symmetric matrix with det(A2) = 0.
ym

() A?Z is skew-symmetric Aélat-rix with

det(A2) = 0,
(d) A% s ske -sym tnc matnx with
det(Az)
2 0 0
39. IfA=|0 3 0], then which of the following

0 0 4
statements are correct ?

1. A" will always be sincular for any
=

2. A" will always be a diagonal matrix for
any positive integer n.

positive integer n.

3. A" will always be a symmetric matrix
for any positive integer n.

Select the correct answer using the code given

below :

(a) 1and 2only
L@/ 2 and 3 only

(¢) 1and3only

(d) 1,2and3

40. If (a+Dh), 2b, (b +c) are in HP, then which

one of the fellowing is correct ?
a, b and ¢ are in AP

(b) a-b,b-cand c-a arein AP

@) abandcareinGp

(d a-b,b-candc-aarein GP
DFTK-S-MTH (15—

C_N

Consider the following for the next two (02)

items that follow :

Consider the equation (1 — x)* + (5 — x)* = 82.

What is the number of real roots of the

equation ? m
i ¥

41.

0
2
ey 4

(d 8 &

42, What is the sum of all the roots of the

equation ?

(a) 24

ok

(¢ 10

(d 6

Consider the following for the next three (03)
items that follow :

Consider equation-I : z% + 222 + 22 + 1 = 0 and

equation-II : z19%5 4+ 5100 4 7 _ ¢,

43. What are the roots of equation-I ?

(@) 1o a2

D)
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44. Which one of the following is a root of

equation-II ?

(a)

45. What is the number of common roots of

equation-I and equation-IT ?
(a) .0 -

u.ba/l |
© »

@ 3

Consider the following for the next two 02)

items that follow :

A quadratic equation is given by
(a + b) x2 —(a+b+c)x+ii=0, where a, b, ¢ are
real.

- 46, Ifk = %, (c # 0), then the roots of the equation
are :
(a) Real and equal

M and unequal "

(¢) Realiffa>c
(d) Complex but not real

DFTK-S-MTH

47. Ifk = c, then the roots of the equation are :
) ::; a-]ib
T
D T 55
(d -1 and—a:b

Consider the folfow‘ing for fhe néxt three (03)
items that follow :

Let(1+x)" =1+ Tyx+ Tox? + Tox3 + ..+ T xI
1 2 3% n
€ -

48. What é’l‘l + 2T, + STJ; .. +nT, equalto ?
«————2——’3',
(@ o0

b 1
Mﬁ

49. Whatis 1~ Ty + 2T, ~ 8Ty + ... + (-1)®nT,
equal to ?
@ o0

_9n-1

(¢) n2n-1

‘<3

[50.  Whatis T; + T, + Ty + ...+ T, equal to ?

(a) 27
(c) Zn—l

d 27+1
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51. Ifr is the coefficient of correlation between x|83. If H is the Harmonic Mean of three numbers

and y, then what is the correlation coefficient 19cy, ¢y, and 1%Cq, then what is the value
o 270
between (3x + 4) and (- 3y + 3) ? a I
- - ) 1
- ‘a
® 4
17
d) r @ 17
14
(¢ +3r ;
d =
(d) a1
@d -+3r

54. In a class, there are n students including the
students P and Q. What is the probability that

P and Q sit together if seats are assigned

_ randomly ? )
52. A fair coin is tossed 6 times. What is the @ L
probability of getting a result in the 6% toss 2 b
_ n
which is different from those obtained in the © 24
n
first five tosses ? @ L
2n -,
7 ' 2
(a) '1—6- - !’.'
55. In a Binomial distribution B(n, p), n = 6 and
1 . ; £
L - 9PX = 4= P(X = 2). What is p equal to ?
. - 1
@/i 445
32 1
' 3 (b) =
d —
64 © 3
¥ g
4
& =
( ) 5 5 il
. o ,ﬁ'-‘

DFTK-S-MTH N © (18-9)
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Consider the following for the next five (05)
items that follow :

Three boys P, Q, R and three girls S, T, U are to be
e e e e e —_— —

arranged in a row for a group photograph.

56. What is the probability that all three boys sit

together ?

m 1

4
1 \—4
(C} —3-

o & AN

(

57. What is the probability that boys and girls sit

58. What is the probability that no two girls sit

together ?
2
(a) g
3
b 2
(b) 5

1
(c) Ig q
1 M
5
Y
@ What is the probability that P and Q take the

Q’ two end

positions ?

14
15

(c)

11

(d) =

alternatively ? 60. What is the probability that Q and U sit
f together ?
5
(a) 2
1 ‘°’
10
m 1
@ 3
6 5
@@ =
1 6
@ =
J 1
' 3
DFTK-S-MTH . (21-D)
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61.

62,

63.

What is the length of projection of the vectar
A A a) A A A
1 +2j +3k on the vector 2i +3j -2k ?

1
@ =
—
V17
3
]
2
d e L
@ =

gy M R SR b | =4,

then what is the value of | Py | ?

(a) 3
4

) 5
(d 6

. — =

If 6 is the angle between vectors a and b
_>

such that ?. b >0, then which one of the

following is correct ?

(a) 0<e<qn

(b) gses:rc

.@/osesE

2

d 0<6<Z

(d) <B< 3
DFTK-S-MTH

64.

65.

66.

A A 1:\ A
The vectors 60i + 3j, 40i -8 and
A A
Bi —52 are collinear if :
(a) B=20
(b) PB=40
(d p=26
Consider the following in respect of the vectors
=(0,1, Dand b =(1,0,1):
1. The number of  unit vectors
_}
perpendicular to both & and b is only
one.
2, The angle between the vectors is —g "
Which of the statements given above is/are
correct ?
(a)  1only
2 only
(¢) Both1and?2
(d) Neither 1 nor 2
If L is the line with direction ratios

<3,-2, 6> and passing through (1,-1, 1),
then what are the coordinates of the points on
L whose distance from (1,—-1, 1)is 2 units ?

11 13 19 (135

(a) ( RE 7Jand 77)
rrfnls 18 J

]_)11 =

© fl:ﬁf 11 19}md(~1—3 5]
TRy ¥ 77

; 13 11 E) i [1 _3 _é)
T pEy 7 g g
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1

67. Which one of the planes is parallel to the line | oy [ 4 b1, tg, tg ... be in GP. What is (¢t .. t21)ﬁ

x-2 _y-3_z-4,

3 4 5 equal to ?
(a) 2x+2y+z-1=0 (@) tyg
() 2x+2y—22+1=0 @ o
@x—2y+z—l=0 w/;
) t11

68. What is the angle between the lines
9x=3y=—zand 6x=—y=—427? 72. Which one of the following is a square root of
—=17

(@ 0° L

(a) 141 o
(h) 30° ; 05
) -1

@ & - :"

& > S

J2
69. What is the equation of the 1.
sphere  concentric  with  the  sphere @ E
x2 +y% + 2% — 2x — 6y — 82 — 5 = 0 and which
passes through the origin ? 73. What is the maximum number of points of
@) 6 sl B il A intersection of 10 circles ?
a X~ + + 77 — X —87 =
- (a) 45
® =x2+y>+22-2x-6y=0 A
(b) 60
() xX2+y°+22—-6y—8z=0 @ -

‘/@/;c2+y2+22—2x—6y—8z=0 @ 120

70. A point P lies on the line joining A(1, 2, 3) and
B(2, 10, 1). If z-coordinate of P is 7, what is the

74. A set S contains (2n + 1) elements. There are

4096 subsets of S which contain at most n
sum of other two coordinates ? )
elements. What is n equal to ?

—-15 5

(b) -13

(b) 6
() -11 © 7

DFTK-S-MTH ' (25-D)
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o R x-1 x+8

7. If| x+1 —-92%x x-_4
x-3 x+4+4 3x
. =ax? + bx® + cx2 +dx +e,
then what is the value of e ?
(@ -1
Nod
(e 1
d 2
76. If all elements of a third order determinant

are equal to 1 or — 1; then the value of the

déterminant is :

(a)  Oonly

'\Jhﬁ/an even number but not necessarily 0

(c)

0,10r-1

an odd number

2 -1 o0
7. IfA=|-1 3 0|, then what is the value
1 0 1 '
of det[adj(adjA)] ?
G
(a) 5
(b) 25
() 125
625
DFTK-S-MTH (27~

100
IfA=|0 1 0], then what is
001

23A% — 19A2 _ 4A equal to ?

u]l matrix of order 3

(b)

78.

Identity matrix of order 3

2 00
(e) 0 2
0 0

N o

-3
o

(d |0

79. The value of the determinant of a matrix A of
order 3 is 3. If C is the matrix of cofactors of
the matrix A, then what is the value of

determinant of C2 9

(a) 3

@ 9
(¢ 81

_(d) 729

k-1 k
k-2 k+1
det(A;) + det(A,) + det(Ag) + ...
equal to ?

80. IfA. = [ J, then what is

+ dEt(A 1 00)

(a) 100

(b) 1000

(e 9900

U@y 10000

D)
r—.
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Consider the following for
items that follow :

the next two (02)

A parahola passes through (1, 2) and satisfies the

dy _ 2y

differential equation =Y. — —,%>0,y>0.
: dx X

81. What is the directrix of the parahola ?

1
b -
(b) y 5

1
(C) X——g

1
(d} X—g

82. What is the length of latus
parabola ?

(a)

rectum of the

®©

W[ B po) e -

(c)

(d)

Consider the following for -the next two (02)
items that follow : '

1

84. Whatis lim £F(x)8®) equal to 9
X
=
(b) ab '
(¢) 2ab
@ —‘/%Ti

Consider the following for the next two
items that follow :

Let f(x) = V2—-x + J2+%x .

(02)

85. What is the domain of the function ?

(@ (-2,2) .
G T2,

() R-(-2,2
d R-[-2 9

86.. What is the greatest value of the function ?
(@ V3

) e
vouo

d 4

Consider the fbfltf_wing
items that follow

Let fx) = |x| and gx) =
greatest integer function.

for the next two (02)

B =, shiemn ] it

f(g(x))
Let h(x) = —
= @)

87. Whatis lim h(x) equal to ?
X—0+

(a) -9

@) -1

¢ o0

x-1 x-1
Let flx)= 207 . gx) =x—1.
83. Whatis lim f®)=1 . ..,
x->1  g(x) :
In (ab)
@) o
a 4
In (ab)
2
()  In(ab)
(d)  21n'(ab)
DFTK-S-MTH

(20-

@ 1

2
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88. Whatis lim h(x) equal to ?
x—0-

qi’ =

by -1
() 0
d 2

items that follow -

x—-3

+a; x<3
x-3] )

Let fix) = a-b; x=3 and
= +b; x>3

[x-3]
f(x) be continuous at X=8,

89. What is the value of a ?
(a) -1

® 1

() 2
3
90. What is the value ofb ?

(a) -1

(c) 2

—

@ 3

DFTK-S-MTH

>

92.

—

Consider the following ﬁ;r the: next two (02)

93.

94,

Vo

|

(31-D)

91.

9356355931

The sum of deviations of n numbers from
10 and 20 are P and q respectively, If
(p-q)? = 10000, then what is the value of n ?

qa» 10

(b) 20
(e) 50
(d 100
X s 20 is the mean of 10 observations
X1 X9 .., Xq; then what is the value of
= (3;“4}
i )
M
i=1
(@ o0
(b) 12
() 112
(d 1012

If the mean and the sum of squares of
10 observations are 40 and 16160 respectively,
then what is the standard deviation ?

(a) 16
Md 6
(e) 5

@ «

Three dice are thrown. What is the probability
of getting a sum which is perfect square ?

;@/_11
108
b 5

108
19
108
23
108

(c)

(d)
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95. A B, C and D are mutually exclusive and |98,
exhaustive events,
If 2P(A) = 3P(B) =4P(C) = 5P(D),
then what is 77P(A) equal to ?
(a) 12
(b) 15
(c) 20
. "
96. Two distinet natural numbers from 1 to 9 are
picked at random. What is the probability that
their product has 1 in its unit place ?
1
(a) _8_1
1
b 2
1
(c) I§
1
36
97. Two dice are thrown. What j e probabil
that difference of numm
7
(a) é—e— .
B 5 )
18
5
(c) 1—8— X
11
d =
(d) 36 , (1/
DFTK-S-MTH (33-D)

What is the mean of the numbers 1,28 .. 10
with frequencies 900, 901, 902, - 909,
respectively ?

(a) 1-1x98

b 12x74
M:

(d 055

The probability that a person recovers from a
disease is 0-8. What is the probability that

exactly 2 persons out of 5 will recover from the

disease ?

(@) 000512
() 002048
(e 0-2048

o1z

100. Suppose that there is a chance for a newly

constructed building to collapse, whether the
design is fauity or not. The chance that the
The chance that the
building collapses is 95% if the design is

design ig faulty is 10%.
faulty, otherwise it is 45%. If it is seen that
the building has collapsed, then what is the
probability that it is due to faulty design ?

(a) 010
0-19
() 045
(d 095
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101. What is the equation of directrix of parahola
y2=4bx,whereb<0andb2+b—2=0?
(@ x+1=0
() x-2=0
@ x-1=0
d x+2=0

b%d (a2, ab)

vertices of a parallelogram that is not a

102. The pm b), (0, 0), (a,
are:
m; on the same circle

(b)
(e)

square
@/c(:;inear

103. Given that 16p2 + 49¢% — 4r? _ 56pgq = 0.
Which one of the following is a point on a pair
of straight lines (px+qy +r) (px + Qy-1)=07?

~ 4 DDE
-3

(c)
(d)

vertices of a square

4,-7)
(4,7)
104. If3x +y — 5 = is the equation of a chord of

the circle x2 + y2 - 25 = 0, then what are the
coordinates of the mid-point of the chord ?

3 1
(a) [Z: ZJ
oH
2’ 2
3 1
(c) (Z,—ZJ
3 1
(d) [—2—,—5)
DFTK-S-MTH

105. Consider the following in respect of the
2 2
TR =2
24-k

equation

1. The equation represents an ellipse if
k=19

2. The equation represents a hyperhola if
k=12,

3.  The equation represents a circle if

- k =20,

How many of the statements given ahove are

correct ?
(a)  Only one
(b)  Only two
@ All three
(d) None
106. Consider the following st;tements in respect
%
of hyperbola m ~ ;1—31{2—9_ =1

1. The two foci are independent of 0.
2.  The eccentricity is sec .

3. The distance between the two foci is
2 units.

How many of the statements given ahove are

correct ?

(a)  Only one
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107. Consider the following in respect of the circle | Consider the

\_,@/E)nly two

108.

ey 2, -2

109. The line x + y = 4 cuts the line joining P(-1, 1)
and Q(5, 7) at R. What is PR : RQ equal to ?
(@ 1:1
1:2
@@ 2:1
(d 1:3
110. What is the sum of the intercepts of the line
whose perpendicular distance from origin is
4 units and the angle which the normal makes
with positive direction of x-axis is 15°?
@ 8 |
46
@ 86
DFTK-S-MTH (37 -

4x2 +4c3r2 4ax — 4ay+a =0:
1. The circle touches both the axes
2. The diameter of the circle is 2al

3. The centre of the circle li the line
X+y=a.

How many of the statements given above are
—

correct ?

(a) Only one 4

NG
-y
71

For what values of k is the line
(k-3)x-(5-k%)y+k? -7k + 6 = 0 parallel

tothelinex+y=17?
e —

(¢)  All three
(d) None

(c) 1) i 2

items that follow :

Let a4, dg, a3 ...

be in AP such that

a; + ag + ajp + ap + dgp + ags + asg + Agg = 300.

111. Whatis

following for the next two (02)

ap + a5 — 839 — 835 — Ay — Agy + agy + agy

equal to ?

@/

250

112. Whatis Z a_ equalto?

(a)
(b)
(c)

34

n=1

900

1025

1200

1275

OL

Consider the following for the next two (02)

items that follow :

(a)

(b)

D)

-—

Letp= cus(gj cos(?;) and q = cos[45 Jcos[

113. What is the value of p + q ?

8n
5

%)

4

e
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114. What is the value of pq ?

@ -%

items that follow :
Let sinx + siny = Jg(cosy —COSX); X + ¥y

T
O<x,y< —=.
X,y 5

117. What is a value of sin 3x + sin 3y ?

fa) -1
(E)o

Consider the following for the next two (02)

Consider the following for the next two (02)

(e)
(d)

1
3

items that follow :

'Letp= _1_ _ tan3x

3 tanx

an
q=1—3tan2x,0<x<n,'x¢ g

115. What is pq equal to ?
(a) 1

(b)

wloo W

(c)

® -
3

116. For how many values of x does e become
p

zero ?

118. What is a value of cos? x + cos3 y?

3J3
-(a) —8—-
‘-

8

3J6
(c) ‘—4—-
d 1

Consider the followi.ng for the next two (02)
items that follow :

The angles A, B and C of a triangle ABC are in the
ratio3:5: 4.

119. What is the value of a + b + V2e equal to ?

No value

(b)  Only one value

(¢)  Only two values

(d)  Only three values

DFTK-S-MTH

(a) 3a

(b) 2b
@ » .
(d) 2

(b)
(c)
(d)

(39-D)

120. What is the ratio.qf a?:b%:¢29

2:2+ 48 i3
2:2- 43 :2
2:24+ 43 :2
2:2- 43 :3



